

1753

$$f(x) = \frac{0}{2} + 0 \cos x + \frac{2}{1} \sin x + 0 \cos 2x + \frac{-2}{2} \sin 2x$$

$$+ 0 \cos 3x + \frac{2}{3} \sin 3x + \dots$$

$$f(x) = \frac{2}{1} \sin x - \frac{2}{2} \sin 2x + \frac{2}{3} \sin 3x + \dots$$

29 17.20 (11) 0.25

$$f(x) = \frac{a_0}{2} + \sum_{k=1}^{\infty} (a_k \cos \omega_0 kx + b_k \sin(\omega_0 kx))$$

$$a_0 = \frac{2}{T_0} \int_{T_0} f(x) dx$$

$$a_k = \frac{2}{T_0} \int_{T_0} f(x) \cdot \cos(\omega_0 kx) dx$$

$$b_k = \frac{2}{T_0} \int_{T_0} f(x) \cdot \sin(\omega_0 kx) dx$$

مثال: اوجدت فورييه لتلك الدالة المثلثية  $f(x) = \begin{cases} -1 & \pi \leq x < 2\pi \end{cases}$

$$a_0 = \frac{1}{\pi} \int_{\pi}^{2\pi} f(x) dx = \frac{1}{\pi} \left( \int_{\pi}^{2\pi} -1 dx + \int_{\pi}^{2\pi} 1 dx \right)$$

$$= \frac{1}{\pi} \left( -x \Big|_{\pi}^{2\pi} + x \Big|_{\pi}^{2\pi} \right) = \frac{1}{\pi} (-2\pi + 0 + 2\pi - \pi)$$

= 0

$$\sin 2\pi k = \sin 0 = 0$$

$$\begin{aligned} a_k &= \frac{1}{\pi} \int_0^{2\pi} f(n) \cos kn \, dn \\ &= \frac{1}{\pi} \left( \int_0^{\pi} -\cos kn \, dn + \int_{\pi}^{2\pi} \cos kn \, dn \right) \\ &= \frac{1}{\pi} \left( -\frac{\sin kn}{k} \Big|_0^{\pi} + \frac{\sin kn}{k} \Big|_{\pi}^{2\pi} \right) \\ &= \frac{1}{\pi} \left( -\frac{\sin k\pi}{k} + 0 + \frac{\sin 2\pi k}{k} - \frac{\sin k\pi}{k} \right) \end{aligned}$$

$$\Rightarrow a_k = \frac{1}{\pi} (0 + 0 + 0 - 0) = 0$$

$$b_k = \frac{1}{\pi} \int_0^{2\pi} f(n) \sin kn \, dn$$

$$\begin{aligned} &= \frac{1}{\pi} \left( \int_0^{\pi} -\sin kn + \int_{\pi}^{2\pi} \sin kn \, dn \right) \\ &= \frac{1}{\pi} \left( +\frac{\cos kn}{k} \Big|_0^{\pi} - \frac{\cos kn}{k} \Big|_{\pi}^{2\pi} \right) \end{aligned}$$

$$b_k = \frac{1}{\pi} \left( \frac{\cos k\pi}{k} - \frac{1}{k} - \left( \frac{\cos 2\pi k}{k} - \frac{\cos k\pi}{k} \right) \right)$$

$$= \frac{1}{\pi k} (2 \cos k\pi - 1 - 1)$$

$$= \frac{1}{\pi k} (2 \cos k\pi - 2)$$

$$= \frac{2}{\pi k} (\cos k\pi - 1) = \begin{cases} \frac{2}{\pi k} (1 - 1) = 0 & \text{كفر زوج } k \\ \frac{2}{\pi k} (-1 - 1) = -\frac{4}{\pi k} & \text{كفر فردي } k \end{cases}$$

وضعت طريقة الحل

$$f(x) = 0 + \frac{-4}{\pi(1)} \sin x + \left(\frac{-4}{\pi(3)}\right) \sin 3x + \dots$$

بشكل آخر نعرف طريقة الحل للفترة  $-\pi \leq x < 0$  والفترة  $0 \leq x \leq \pi$

$$f(x) = \begin{cases} -x & -\pi \leq x < 0 \\ x & 0 \leq x \leq \pi \end{cases}$$

$$a_0 = \frac{1}{\pi} \left( \int_{-\pi}^0 -x dx + \int_0^{\pi} x dx \right)$$

$$= \frac{1}{\pi} \left( -\frac{x^2}{2} \Big|_{-\pi}^0 + \frac{x^2}{2} \Big|_0^{\pi} \right)$$

$$= \frac{1}{\pi} \left( 0 + \frac{\pi^2}{2} + \frac{\pi^2}{2} - 0 \right)$$

$$= \pi$$

نكتب  $a_k$

$$a_k = \frac{1}{\pi} \left( \int_{-\pi}^0 -x \cos kx dx + \int_0^{\pi} x \cos kx dx \right)$$

$$a_k = \frac{1}{\pi} \left( - \left( x \frac{\sin kx}{k} \Big|_{-\pi}^0 - \int_{-\pi}^0 \frac{\sin x}{k} dx \right) + \left( x \frac{\sin kx}{k} \Big|_0^{\pi} - \int_0^{\pi} \frac{\sin kx}{k} dx \right) \right)$$

$$= \frac{1}{\pi} \left( (-0 + (-\pi)) \sin \frac{(-K\pi)}{K} + \frac{1}{K^2} (\cos K\pi) \right)$$

$$+ \left( \pi \frac{\sin K\pi}{K} - 0 + \frac{1}{K^2} \cos K\pi \right)$$

$$= \frac{1}{K^2 \pi} \left( (-\pi - \cos K\pi) + \cos \pi K - 1 \right)$$

$$= \frac{1}{\pi K^2} (-2 + 2 \cos K\pi) = \frac{2}{\pi K^2} (-1 + \cos \pi K)$$

$$= \begin{cases} 0 & \text{و } K \text{ زوجي} \\ -\frac{4}{\pi K^2} & \text{و } K \text{ فردي} \end{cases}$$

The End

